Day 20 Suly 22029

‘2_@.;‘1 ‘Tt\c_ Ct\arm“‘éﬂ‘f“’ic o'pa rif\j) aler\o"-ea‘
Cl\dr ’R, is apepn‘neol "“o Le -H\e |¢o¢+ 'Porn'%'va
?r\:\-ejer n S-<t. nc =o, V(é'R/ {4: Sach an
IA‘\'Lju exists. f]['c ho Such (/\-\ejer exists, Chas R=0.
NC=CH+rctr-+10
N e i

N Hmes

1= : i
_lé:}é__. Lf,“' R \o¢o\ Glant o n /k_érQ j_ﬁ 1
\(\L\S Orake.r n, -u«:?\ C_L\a._r Ql n.
(Peod)
$ /L »\D\S omler N\ ar\pl @:‘ck f&?.jl\eq
ne=n(le) = (r\l)\"= O« =0.
So C,L\Ark <N
DTO“, i'('\' m= Cl'\oLr R, '{'\r\er\ Mi.f—‘ O.
go Mm=zn, Sinte Nis “’l\e_ order o$ 1=
So CL\M"F?f\ = CL\Ar'R=r\. %

rﬂ“’g@,—(\ke_ CL\QfAC‘l‘effS‘l\‘s AL s e e e
CP(ooQ') TQ AeR is not o‘(‘\ -Qim'-}g ora(er/ ‘H\U\ C_Laf'R=0,
So ? oralu ocl (§ N< o9, '—LL n s COM,0°J"""‘QJ
wnte v\———a\p/ s ome e b o Sl

o=aol=(al)L=(aD(Y).
Since R i€ aa ID, either ah=0 o bl=0.
EB'A{. 1<q, L<'7/ A COF\'{“QcL‘CIfM. @



f.D@’(“T‘(" (‘R ‘S\S are (‘i'\ji‘, +L6r\ o Mo
SEL CP‘. ? —S [
\s Cmuci o ra‘r\j \r\omomorrLism {-‘1
B(a +b)= ()t 4(b) 1 Plab) = ¢a) ¢Cb)

Leall abeR A bijectve ring homomorphirm
§ a rh\j iSoMorf\'\?gﬂ\- —(_L\L Kerﬂe‘ o‘ﬁa r:‘/\j

\I\OMOMOer(SM 4‘2"\1 —>S: 0(6"\0"’60{ Ker 4>) /‘g
Ker ¢ = ireR l 4>(r)=cz7.

%ﬁﬁ.- Le’\‘ 4’? —-$ [a& avfr\j L\omomorf'l\:‘sm.
CD -L‘; rR LSOy Commwlw\‘-\'ve, r»‘n7) -}—Len
CP('P\ S A Commutalbve rinj‘
@ (o) =0
@ f rR "(S are rings cwidh U\nHJ ard ¢
'S Swrjec-l-ivc, Hen H(1)=1.
@1’@ B is a Ledd and P + iO?L el
C(’((R) S A‘Cieu.
(Praog) EXerciSe. @

T deals 1 guokients
D___-e—_i‘, AV\ \Oleﬂt( o‘(\’ a (‘if\j ’R IS a Sq'pri'l:j I .C_(P\ %
crlc ¥ and Tc =AYy VY ceR.

Bmk  Thee are also called oo -sided idleals.
We wDr\‘* S'\‘««Aj \Q-N' ialealls oC r’\j\«\- ioleals‘.



__Eé@ —T?iw‘al fJea\S‘.T:{Dﬁ %I-:'R
@ el
\J ceZ and seL, s= nk,%sw ez
Then ss=r(b) = n(ck) en
S Sc=(aDe~n k) enz,

So v1L <X ad Le v
@ For Aany Commw‘wl-iva Cirg with t{m'ﬁ R,

{ay 31{4‘"]“67{3 = (a)

IS "\‘L\L io’ml jev\ermlea( loj a. We call
ideals of His form \)ril\cfpo\l.

Et’gg_ EVUJ Amt o"\’ Z is o frir\c(‘(a/ No[ea(.
(_?foa‘v‘-) E)(el‘cfse. %

?ﬁ. :FOT &U’Uj L\QMOMorTL\u’sm o“\‘ ra‘r\js 4>¢P —>§)
Kee ¢ is an leal 0(3 RS
C?(oo&-) Since & is A homom. ot JCops, Ker ¢ is
an aan'l‘iV& Swlﬂﬁro««f o"\‘ R T4 remains te
check Hod ©(Ker @) S ke ¢ 5 (Kerd)e S Kerd,
W ceR. :P'(CK A € ker ¢, (hen

P(ca) = o) ¢(a) = ¢(r)-0 =0 Srackep
P blad = S $0 = 0-§6) = 0 = ar efer b,
So ¢ (Kec &) € kecd % (ker §)€ & ker ¢ 12



'U\’g et 30 \oe_ oN \‘oleq' o'p R. “Then the
OVMO\'\W'D'\ olcp-inu‘ l”]

(Cai)ern) - —rs

'(:ur €\I€4‘J TJS er\l) 3\\1&5 7N \IaIfOI rc'nj :“TKC““(‘Q
-\-v H\a 7/u04-5a+ 3ro-f P/’I_

(_Pfoo'c,) I/\)a Know alrmclj -\-l\p:t (P\/I ‘corm.s ahn
a\ﬂ,(a‘ar\ et wrder coset aﬁuf-l-»‘m.
\/\JQ V\eeoP "l“D CL\QCK +L\m+ onr rrorofwl MMI',T')ﬂl)'cq'l‘fm
5 W"-“"alcpx‘nd, assoc.fqﬂh‘ve, lj disdeibutive.

Wel cl\(ﬂﬁ SellFls b

jS GEL=v 1L { Se+ L=sS4+1.
Alhen 0,6 Cad and =c c S, M=
So A ar, as € L s.t.
1 = Yo Y ac (‘l S = S, + 4.

So (f+D(s¥D= 15 + L
= (ot ad) (So+rs) +1
=(t.S0 + &S5 t a5 ta.ad + L
= (\ogo‘\"IT

go mu‘%‘(lt‘a&(m (S W&(/“&le'c:'flec(. %

Det TL T is an ideal of B, we call R/T Hhe
42«0‘{'104\‘\' Tt'"J o‘@ 'R Lj .




